Thank you tor purchasing this quality product. Be sure to check all
packing material carefully for small parts that may have come loose

BQ-1017-25: HAGAN OUTDOOR COUNTER HEIGHT TABLE  inside the carton during shipment.

A.TABLE TOP x1 B. STEEL x1 : C.BOLTS M8x70 x3 D. M8x16 x8 E.KEY K4 x1
F. BASE x1 F. M8x40 x3 H.BOLTS M8x20 x8

O 0

Use bolts M8x70 and Washer M8x40

Use bolts M8x20
and Washer M8x16

FINISHED




